EEBREET-AIIHER 1/3
FEREBEE-_A)VUHER
=KXE
55| WEE A She | 45 | shee | wure
(mSv/h) (mSv/h) (Ba/cm? (Bq/cm®)
1 3/20,21 FIIRREBR vy /NTNTAR 1.3E-1 2.0E-1
2 3/19,20,21 RRERES F_IRAREEH 2.5E-2 3.0E-2
3 3/21,22723 SPTEE. SERBRNEER 2.0E-2 2.5E-2
4 3/21 BREEESR CvyNITNTRA <4.6E-1 <7.3E-6
5 3/21 —RRE FHEREKHRN <4.6E-1
6 4/3 BEEALPST Y 7 1.0E+0 2.5E-1 6.6E+0 <7.0E-b5
7 4/3 T LARER-RRERSR BB 5.0E+0 3.5E+2 1.6E+2 7.0E-5
8 4/3 I LRER—RRERSR F Mm% 3.0E+0 1.6E+2 1.3E+2 1.9E-3
9 4/3 T LRERE-RRERSR BB 2.8E+0 1.5E+2 5.3E+1 1.8E-4
10 4/4 BERALPST U7 3.0E-2 5.0E-3 7.9E-1 <7.0E-b5
11 4/4 HERALPST ) 7 BR/KERE(SEDS) 1.5E-1 3.5E+1 1.2E+1 <7.0E-b5
12 4/4 LU LREBRE=BS —HREER 8.0E-2 1.0E+1
13 4/4 LU LREBRE=BE —HREER 1.3E-1 1.6E+1
14 4/4 LU LRER—RRERSR F Mm% 5.0E+0 2.5E+2 2.bE+2 3.4E-4
15 4/4 T LARER-RRERSR BB 5.0E+0 3.5E+2 8.0E+1 1.2E-4
16 4/4 I LRER—RRERR F Mm% 2.0E+0 1.0E+2 >2.7E+2 1.2E-3
17 4/5 WRALPST ) 7 fusk%EiE (SEDS) 5.0E-2 4.0E+0 3.6E+1 <7.0E-b5
18 4/5 LU LREE-FRERSR B M 4.5E-1 5.0E+1 >2.7E+2 4.0E-4
19 4/5 LU LRER—RRERSR F Mm% 1.8E+0 1.2E+2 >2.7E+2 7.7E-4
20 4/5 T LARER-RRERSR BB 2.3E+0 1.7E+2 >2.7E+2 6.1E-4
21 4/6 ALPST U 7F 1.7E-2 9.9E+0
22 4/6 ALPST )7 Ri/k#EE (SEDS) 3.bE-2 <1.0E+0 9.9E+0 <1.1E-4
23 4/8 ALPST )7 Ri/k#EE (SEDS) 1.6E+0 1.4E+2 7.3E+0 <1.1E-4
24 4/9 WRALPST ) 7 fusk%EiE (SEDS) 2.0E-1 1.2E+1 2.0E+2 <7.0E-b5
25 3/22 ALPST )7 Ri/k#EE (SEDS) 1.8E+0 1.1E+2 1.2E+1 <1.1E-4
26 3/28 ALPST U 7F 3.0E-1
27 3/26 WRALPST ) 7 fusk%EiE (SEDS) 2.5E-1 1.5E+1 1.1E+2 <7.0E-b5
28 3/27 BEEALPST Y 7 2.0E+0 3.0E+0 9.2E+0 <7.0E-b5
29 3/27 WRALPST ) 7 fusk¥EiE (SEDS) 2.2E-1 5.0E+0 1.5E+2 <7.0E-b5
30 3/29 WRALPST ) 7 fusk%EiE (SEDS) 6.0E-2 <1.0E+0 3.2E+0 <7.0E-b5
31 3/30 BWEEALPST Y 7 2.0E+0 55E-2 1.4E+1 <7.0E-b5
32 3/29 T LARER-RRERSR BB 1.5E+0 9.0E+1 8.8E+1 2.3E-4
33 3/29 I LRER—RRERR F Mm% 5.0E-2 3.0E+0 >2.7E+2 1.8E-4
34 3/29 T LARER-RRERSR BB 1.3E+0 1.0E+2 1.2E+2 7.0E-5
35 3/30 T LARERE-RHFRERSR F M 1.0E-1 5.0E+0 1.0E+1 1.2E-4
36 3/30 I LRER—RRERSR F Mm% 6.0E+0 4 0E+2 >2.7E+2 2.9E-4
37 3/30 I LRER—RRERR F M 1.5E+0 6.0E+1 >2.7E+2 3.1E-4
3/1,2,5,6,7,8,9,12,13,
38 [14,16,16,19,20,22,23, TEHmERE 1FL. 2FL 41E-1
26 27,28,29,30
3/1,2,5,6,7,8,9,12,13,
39 |14,15,16,19,20,2223, TOEXFEE Bmflv— 1.5E-2
26 27,28,29,30
40 3/12 —RRE FHEREKHRN <4.6E-1
41 3/12 —HRE FHEXR <4.6E-1
42 3/14 —FRE FMEER SARRYRER 8.0E-2 8.0E-2
43 3/14 —FRE FHEHR <4.6E-1
44 3/14 —HRE FHEXR <4.6E-1
45 3/15 —FRE FMEER SARRYRER 8.5E-2 8.bE-2
46 3/16 REREER Ty NNTINTRXNAH 5.0E-1 5.6E-1
47 3/16 BIREEHEER P NTNTRNR 1.3E-1 2.0E-1
48 3/16 RRERES F_IRAREEH 2.5E-2 2.5E-2
49 3/16 SPTEE. SRBRNEE 1.5E-2 2.0E-2
50 3/16 FIRREEREZR T NTNTAR <4.6E-1
51 3/16 —HRE FREREKHRN <4.6E-1
52 3/16 —FRE BHEREKHRN <4.6E-1
53 3/19 FE_IRRERE 2.5E+0 3.0E+0
54 3/19 —HRE F—HEX 2.5E-3 <1.0E-2
55 3/19 —RRE BHEHREKHARN <4.6E-1




EEREE-AITHE 2/3
FEREBEE-_A)VUHER
=KXE
52| mEA A She | 45 | shee | wure
(mSv/h) (mSv/h) (Ba/cm?) | (Bq/cm®)
56 3/19 RRERES F_IRAREEH 2.5E-2 2.5E-2
57 3/20 THEEWERE 1FL 8.2E+0
58 3/20 —H#ﬁ'”t E—HEEx 6.5E-2
59 3/20 TIRREEBER Py NTNTRAR <4.6E-1
60 3/20 ZIREEHER Py NTNTRNR 1.2E-1 2.0E-1
61 [ 3/19.2021.22,2326,27 ﬂﬂ%'”t?iﬁ'ﬂ‘ E_IRRERE 2.5E-2 3.0E-2
62 3/22 ERERERE  1FL 6.0E+1 4 0E+0 1.3E+0
63 3/22 SiRENZERE 1FL SARRY/EZET ) 7 1.0E+1
64 3/22 —FRE FMEER SARRYRER 8.0E-2 8.0E-2
65 3/20,22 BEEHER KURIONIKEE 2.0E-2 3.0E-2
66 3/22 B_REREZ CYNITNTRAN <4.6E-1 <7.3E-6
67 3/23 ﬂif%'”t?j% Y INTNT AN 5.0E-1 5.5E-1
68 | 3/20,21,22.23 TIRREREER Uy NTNATARN 1.1E+0 1.3E+0
69 3/20,23 “IREEMmR KURIONIREE 2.5E+0 2.5E+0
70 3/20,23 “IREEMmR KURIONIREE 1.0E-2 1.0E-1
71 3/23 ’“’“‘1&1%’#’%% ® OCyNINTRA <4.6E-1 <7.3E-6
72 3/23 —RFRE BHEEREKHN <4.6E-1
73 3/23 2, 3B T/B HAIv—FK 3.5E-1
74 3/20,26 ZIxEEmR KURIONIREE 2.6E+0 2.6E+0
75 3/26 BREEESR CvyNITNTRA <4.6E-1 <7.3E-6
76 3/26 —FRE BHEEREKHN <4.6E-1
77 3/26 TIRERERER Ay NTNTAN 1.1E+0 1.3E+0
78 3/26 SPTEE. SRBRNEE 1.5E-2 2.0E-2
79 3/27 EURBEHIZEE 1FL 3.5E+0
80 3/27 FE_IRREBE 2.7E+0 2.7E+0
81 3/27 —HRE FHEX 2.5E-3 <1.0E-2
82 3/28 FE_IRREMBE 2.8E+0 3.0E+0
83 3/28 —HRE FHEX 2.5E-3 <1.0E-2
84 3/28 —RFRE BHEEREKHN <4.6E-1
85 3/29 ERERERE  1FL 5.0E+1 2.2E+0
86 3/29 —HRE FUEXR <4.6E-1
87 3/30 ot XEEE 1B BT 1.2E+0
88 3/30 —FRE BHEREKHN <4.6E-1
89 4/23456 TEREMERE 1FL, 2FL 411E-1
90 4/23456 ToteXEFEE MmAlv—K 1.5E-2
91 4/2 EURBEHIZEE 1FL 9.0E+0
92 4/2 FE_IRREBE 1.0E-2 1.0E-2 <4.6E-1
93 4/2 —HRE FHEX 5.0E-3 <1.0E-2
94 4/2 —HRE FHEX <4.6E-1
95 4/2 —FRE BHEREKHN <4.6E-1
96 4/2 —HRE FUEXR 2.0E-2 3.0E-2
97 4/2 —HRE FUEXR <4.9E-1
98 4/2 —BRE FUERSEKHRN <4.6E-1
99 4/2 —HRE FHEXR <4.6E-1
100 4/3 THEEWERE 1FL 3.0E+0
101 4/3 —FRES B, —FRESUMEH 3.0E-1 3.0E-1
102 4/4 —HRE FREREKHRN <4.6E-1
103 4/4 —RBRE FHEEHREKHA <4.6E-1
104 4/5 THE#EWMERE 1FL KURIONIREIE 1.5E+0 1.7E+0
105 4/5 THE#EWMERE 1FL KURIONIREIE 2.5E+1
106 4/6 EiREREE BIFL 2.3E+1 >1.0E+2
107 4/6 REREER Ty NNTINTRXNAH 55E-1 6.0E-1
108 4/6 —HRE FREREKHRN <4.6E-1
109 4/6 —RBRE FHEEHREKHA <4.6E-1
110 3/26 T LRERE=RE —RERERR 4.0E-2 7.5E+0
111 3/26 I LRER—RRERR F M 1.0E+0 4 0E+1 5.3E+1 1.2E-4
112 3/26 T LARER-RRERSR BB 5.0E+0 2.bE+2 1.1E+2 4 0E-4
113 3/26 LU LRER—RRERESR FH X 3.0E+0 1.5E+2 >2.7E+2 2.9E-4




FEBET=R)L T R 3/3
VEEBIEBT-A) T HER
PN

(mSv/h) | (mSv/h) | (Bg/cm? (Bq/cm3 )
114 3/27 LU LRER—RRERSR F Mm% 3.5E+0 1.5E+2 2.6E+2 1.0E-3
115 3/27 O ARERE—HEREESN SR 3.5E+0 1.7E+2 >2.7E+2 1.6E-3
116 3/28 O LAREE—HEREESR S 1.2E+0 6.0E+1 1.9E+2 2.6E-4
117 3/28 LI ARERE—HEEESN B THEN 3.0E+0 1.6E+2 1.6E+2 2.6E-4
118 3/28 L ARERE—HEREESN BN 2.0E+0 1.6E+2 >2.7E+2 1.2E-4
119 4/2 HEROFER > TR 7.0E-2 6.0E+0
120 4/3 HEROFEAR > TR 2.5E-1 1.7E+1
121 4/3 454 T/B TCW ENEL 5.0E-2 2.0E+0
122 4/3 358 T/B 2FL 6.0E-1 2.2E+2
123 3/30 651 R/B B2FL RHRHx(B)= 4 0E-2 <3.04E-1
124 3/23 651 R/B B2FL RHR-Hx(B)= <4.60E-1
125 3/29 Ho~CCR CxT Y 7¥ 3.bE-2
126 3/27 T30 BEEM—RREER 2.0E-1 4 OE+1 1.0E+0
127 3/27 T30 BEEM—RREED 4 0E-1 4 0E+1 7.2E+0
128 3/20 HER SHREIAR—X 8.0E-3
129 3/20 bER T/BEAIEY MAH 3.0E-3 <3.48E-1
130 3/12 458 R/B 7l 3.0E-2 <3.48E-1
131 3/28 Y/D 7ot XZEERIEAITEE 5.0E-2 <4.6E-1
132 3/29 CrOT)7F <3.3E-1 <1.5E-5
133 3/30 CrOT7F <3.3E-1 <1.5E-b
134 4/3 BHEL 7 1.0E-1
135 4/4 281 T/B =EA 9.0E-1
136 4/5 258 T/B Efl No.1dira >y 5.0E-2 1.81E+0
137 4/9 1-25%% T/B-R/B ZEREUY 8.0E-1
138 4/9 3-45% T/B-R/B #EERVY 3.0E+0
139 4/12 AREVAENR ET ) 7 6.0E-2 7.0E-1 <3.48E-1
140 4/12 458 R/B 7l 1.5E-1 <3.48E-1
141 4/13 bt T/B 1FL 1.0E-4 <4.60E-1
142 4/13 651 R/B BI1FL RHR-Hx(B)= <4.60E-1
143 4/2 ALPST U ¥ 1.4E+0 1.2E+2 4 6E+1 <1.1E-4
144 4/2 BEFALPST ) 7 4 2E+1
145 4/2 BEFALPST ) 7 2.6E-1 4 2E+1
146 4/2 HERALPST U 7 Bisk%EE (SEDS) 1.0E-1 8.0E+0 3.2E+0 <7.0E-b5
147 4/2 HERALPST U 7 BiskEE (SEDS) 2.8E-1 7.0E+0 1.9E+2 <7.0E-b5
148 4/2 HERALPST U 7 Bisk%EE (SEDS) 1.5E-1 1.0E+0 2.6E+0 <7.0E-b5
149 4/2 T LREBRE=BE —HREER 1.0E-1 6.2E+0
150 4/2 I LRER—RRERR F M 1.0E-1 8.0E+0 1.5E+2 1.2E-4
157 4/2 I LRER—RRERSR F M 1.5E+0 1.7E+2 2.2E+2 7.0E-5
152 4/2 I LRER—RRERR F Mm% 2.0E+0 1.5E+2 5.3E+1 1.8E-4
153 4/2 TFERY—R 9.0E-3 2.0E-2
154 4/3 TFERY—R 2.0E-3 3.0E-3 <2.2E-1
155 4/4 TFERY—R 1.8E-2 2.8E-2 <2.1E-1
156 4/5 TFERY—R 6.0E-3 8.0E-3 3.0E-1
157 4/6 TFERY—R 5.0E-3 <41E-1
158 4/6 TFE4\FaFT B D 57E-3
159 4/6 EFRRW O+ XHEBER 1.5E-1 1.5E-1 1.3E+0 <6.8E-6
160 4/13 TF4&HAT 1.0E-3 1.0E-3 <2.1E-1 <6.2E-6
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